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The aspect that shows the naturally occurring qualitative and
quantitative changes in the hereditary characteristics of an
individual 1s

l. Growth

2 Innate ability
3. Learning
4

Maturation

QTIQ FIQRIR AIIYLERER JIgEe Ve AFYS
ISR 8 GEINS AR IOIRIYS FVAT

1. Q8
2. 2R9% Qlaely
3. Q4

4. QQKe



2. Main aspect of Chomsky’s theory

l.

Language development depends on intellectual
development

Children have an innate universal grammar

Language development depends on the reinforcements
received by the child

Children acquire language by observing parents and
others

'QIf A e ARNIBQ IS 2°4

1.

2.

AR FRIG , 67121316 RU6Q TR KRN
IAARFOIER ABELE QS * AIRRNR IRQS!
Q@I

QAT RIS TAIES ARSI JARE AT6RQ
@ @RI

dmIFlee 6QRIeE ARG , AT AR
QAR FIQl VG AR PRI



Ravi is able to recite the Mathematical tables and poems that

he had learnt in his childhood without mistakes. His memory is

l.

2
3.
4

Immediate Memory
Long term Memory
Logical Memory

Active Memory

QG JMEAER YRl @ , NEYFQ I6Q ¢
FANRIER 2RAIQE 16IQ 5T

1.

2.

3.

4.

0QR8lIQ 90
QNS 9o
QIR 95
Aqa 96

A child gets two Chocolates once in every week for his
performance in the class. This type of reinforcement schedule

1s called as

l.

2
3.
4

Fixed interval
Fixed ratio
Variable ratio

Continuous

@6ATM 9EAYIER A% 6541926Q FQIR QR
AR 90G S6RI6AT AN 190I6R FEG JAane Gad

1.

2.

3.

Qaq AISe
Qe 219010
QRQeN 29I
GRRER



Find out the wrong statement with regard to learning

l.

2
3.
4

Learning leads to changes in behaviour

Learning is purposeful and goal oriented

Learning starts with birth and proceeds up to death
Behavioural changes occur through learning are

temporary

98 ARG N QT

1.

2.

3.

4.

S48 2GR ARG QIS FRIRAN
SRS AERGIF] PR IG° AYY RIAG 26T
S99 2908 QR AT 78 AIS QIR
94 900 AR JASRR AT 26T

The aspiration to achieve greatness will make the person to
achieve that greatness. This is called

1.

2
3.
4

Achievement Motivation
Intrinsic Motivation
Aspirational Motivation

Extrinsic Motivation

@64 QIR F12Q QITY AL FARIQ A8l @ 692 719G
QA ARIF FAUR2IN | LG IR AL

1.

2.

3.

QReQ GEYE
2BR6S4!1 AREYQS
QARIR°Y| 2RI
NN RIAINN



When a previously learnt task affects the retention of the task
being currently acquired is called as

1. Retro active inhibition
2. Pro active inhibition
3. Retroactive effect

4, Proactive effect

QEIG JVEQ JRs9adq g JRET QI 9§ KRSl
6208

1L 95qIe @RI

2. AQAIC KRR

3. JOUIo @Ry TRITR
4. UQAIC Y IR



The main aim of Evaluation according to NCF-2005

1. To assess the teaching learning process.
2. To measure the scholastic progress of the student.
3. To measure the achievements of teacher and students

in teaching learning process.

4. To assess the processing of co-curricular activities in a
school.

NCF-2005 2QQIN {9 s QEK464G
1. dRIQIQ 94 gEIN1g @R @GQ!

2. dQ1eha d9196 ge1oq Q198 QA4

3. JQIQIe d98 gdInea d9e 8 JgIINee @6
QAN [EM , LI AIIR RAQ

4. QSRR FAULIRSYR! ALAICY KITIFAR 631G
AR FQQ

Teacher acquainting the students who have passed 10™ class
regarding the availability of courses according to their

interests and abilities - is known as
1. Vocational Guidance

2 Personal Guidance
3. Educational Guidance
4

Group Guidance

AR Q841 64811 AIQ KRS TR UG IS° AIFElY
2QAI6Q 629 67% 6214 RV 2T FEIARI &

1L ARIRR ISR
2. QYRGS AIGedR
3. d9I90 AIgedq
4. ORI AIGedR



10.

11.

Individual differences in intelligence are due to

1. Environmental factors only

2 Hereditary factors only

3. Hereditary and Economic factors

4 Hereditary and Environmental factors

'9H6Q IS AITR RIS 6291 A

1L 6Q9R JA6R4d RI@

2. 6@Q9R Q°FIQ9e QIR

3. @°6I9Qe 9e° 2T QIR

4. Q°9IQQF IQ° JGERE RIoa

Psychological aspect that affects learning is
1. Level of aspiration

2 Gender difference

3. Maturation

4 Physical health

I8 IGe @QeQl AIede AT
1. JORIS 29

2. @eEe aidey

3. 90

4. GIIQe L0



12.

13.

Find out the wrong pair from the following
1. Bruner — Theory of instruction

2 Vygotsky — Instrumental learning

3. Carl Rogers — Experiential learning
4

Maslow — Hierarchy of needs

QYR M 691559 026 @9

1. 99 - dRIQIe 6Q

2. GIREQIeR — JIF@ A6

3. QREAIRd —A990 J94

4. QIQER — ARHRBIQ FAG

The leadership style of a teacher who motivates the children

by giving importance to their ideas and feelings and allowing
them to participate in the school programmes along with him
1S,

Permissive leadership

Authoritarian leadership

Participatory leadership

Laissez-faire leadership

b S

ANANGE FIRAA , FERINIG JAQ 69 , 6AANRT
6gQdl 6QIGIR AIAL AR RS IR
ANFAYGRER BINERA 7 ARSI TVIT 629Q
X3y

1L AQRIO 6999

2. Q6R4Q 660

3. QIO 6999

4. 29689 Q19 6Q9Q



14.

A person after reaching college repeatedly thinks whether he

has switched off the gas stove or not, whether he has locked

the house or not. This disorder is

1.

2
3.
4

Psycho neurosis
Neurasthenia
Common anxiety

Obsessive compulsive neurosis

P6Req AR 69 , 69 NI 6]IQ 0 ARG QR
aql A6a ORAIEE SR AR @ 12 QIR QI
03 2R MIBQ AIFAR QIEIS!

1.
2.

3.

AIRERIFUERLY

QueUQII

ARIQE UIGRS!

216060 — AR g QOIS



15.

16.

Suresh is unable to read and cannot understand what others
read. His learning disability is

1. Dysgraphia
2 Dyslexia

3. Dyscalculia
4 Dysphasia

68 ORWIEe JRACARIE , AUAILE AFER a1
ORaIEE GRAICA QIF | J6QEq Q@S FF8 AV

1. eqgicel

2. @engal

3. @9 eNgRel
4. g el

One of the following is not related to psychomotor domain
l. Imitation

2 Naturalisation

3. Evaluation
4

Manipulation

29 940G 1Iede GUI9e 0da A2 A°YS g6<

1. I
2. RIS
3. qaige

4. 296919R



17.

18.

Development is high in Infancy and low in Childhood and it

becomes high again when the child reaches Adolescence. The

developmental principle involved here is

1.

2
3.
4

Development is not uniform in all stages
There are individual differences in development
Development is continuous

Development is a process of interaction

QRS QARIe YUWIER QAUFE 62 , ANISAIER
AR J& 6R6IAAL ULEQICRER QAUFS 629 —
OI6Q FRIE YT

1.

2.

3.
4.

QRIE AN1Y ZQYIER IRIQE FelINg
3RE6Q QGG AITRY Q@elI
QRIS IR FAER IFQ
QR8P IR Y@l

Cognitive development is also called as

1.

2
3.
4

Social development
Emotional development
Moral development

Mental development

FIFAR ARI6G YU F1-) QLRI

1.

2.

3.

AR RIS
2I6Q0R SRS
(a6 QRIS
AIRAR Gl



Minimum number of instructional hours specified for classes
6" to 8" in an academic year according to RTE Act - 2009

1. 1000
2 800
3. 1200
4 900

AR AR RS - 2009 AFAEQ 6@ OIQ 861 6441
adie @ d9 ed6q Fewde ANRg AR AR
(Q416Q )

1. 1000

2 800
3. 1200
4 900



The learning in which, the teacher makes students learn by
themselves by putting problems and questions before them to
provoke thoughts and allow brainstorming is,

1. Problem solving learning
2. Social learning

3. Inquiry based learning

4. Instrumental learning

J9@ Aol , gg9eq ddis QE6a QY AR
QO6Q 03l PG FAUR , EARIIFIRAQ Y6LIT QR FL°
IS FARF| — ¢ IRIQ IQST

1L QoY — QAR SVl

2. AlIGe Q&
3. AQARNIQIAR Q&
4. QAR V&

The method in which information is obtained from the same
person selected for study is,

l. Longitudinal method

2. Experimental method
3. Observation method
4. Introspection method

699 QBT AUAR PR FIgE 698 BT 0IQ @
QY A°G2 KRR ARG
1L IQeLdy 98d

2. QQI[8 A/G
3. JQY6QRE ARG
4. 2AVWQIQ A8G



22.

23.

According to L.M. Terman intelligence is

l.

Ability to change his behaviour towards the
achievement of goal

Abstract thinking ability

Ability to adapt to physical and social environment
Person’s innate ability to develop interpersonal

relations

RN SEIRE 2QAI6R QR AFem

1.

2.

3.

4.

AR AUR ANEH QF ASAEY AR
RAUAAIRQI Qe

2¢)6 086 AInely

6L10R B AFITR TR6d Az AUEAITE ATl
degQ U AR PG| DA ARLG 9@

Shyam doesn’t like to participate in family gathering but at
the same time he doesn’t want to disappoint his mother. The
conflict here is

l.
2.
3.
4.

Avoidance - Avoidance
Approach - Approach
Approach - Avoidance

Dual approach - Avoidance

QNG GI'R AIRANR AFNEF6Q 6AIF6QA AR YL
Q2 | QaId 9l AIRIG 79218 AR AR QB FIE |
OI6Q AYSHR 68Ql 99

1

2
3.
4

JRLIa - ALl
QAIAE - QAIGIE
QIS - AR
@RI - AALIR



24.

25.

Physiological trait that affects person’s personality

l.

2
3.
4

Skin colour
Health
Blood pressure

Hair colour

QTR PRY JRISE 2Q2R FIQTAR IO PRI

1.

2.

3.

4.

ofa a4
QY
aloially
6Q'Q Q4

According to Kohlberg the reason for moral behaviour of the

child during the stage of conventional morality

l.

2
3.
4

To avoid punishment from the parents
Gaining acceptance and getting rewards from others
Gaining acceptance and avoiding censure by others

By self accepted principles

SallSrmtaaT=; 2QQ6Q  JaAARe 656 AUILER
JRTR 6FOR 2IPASIA RIS

1.
2.
3.

JRINIPIT Q8Q YEAR QE

ARARER AQEAIRR IS JRAIQ RS
ARUAIRFA AQEAIYR IQ° GAQ0IQ F6aR
QEQ

Q19 Y196 9@



26.

27.

The learners who learn lessons easily by acting and
performing art are called

1. Bodily Kinaesthetic learners
2. Visual learners

3. Auditory learners

4. Oral learners

R0 , g TR AI0YPHGGY ALFRER TYARYS
daigiciea
1. SIIee 69919 A6Qa1 FQelf

2. Q&N dmlell

3. go dae

1. 6@ aglel

According to Piaget changes occur in Schemata due to

l. Assimilation and Accommodation
Accommodation and Equilibration

2
3. Adaptation and Equilibration
4

Adaptation and Organisation

Jelcas AQACR ' AFICI6Q JARR AT FIQE
1L 22Ged 9e° Agq¥e

2. 2QIER N° ANFRR
3. 2GYRQ Ie° GRS
4 QYRR IS A°GOR



28.

29.

Latha’s knowledge about music doesn’t help her to drive a
car, the transfer of learning here is

1. Positive transfer
2 Zero transfer

3. Bilateral transfer
4

Negative transfer

AGIQ AFIG RIQ , FIQ PAIRAIEA ALY CLRAT —
2l 79 9L 96 YIRS
1L 4d9R 2AE

2. §R ARG
3. 999 919128
4. QAR LA

Physical factor that affects the development of a person is

1. Environment he grows
2 His relatives

3. Media

4 Religious rituals

QPR SR ATEQ JRUL ARIREQI 6QIER ARG
L QQQl aREad

2. QIR 9QRINe
3. deal
4. AIPQQG



30.

The temporary support that parents provide to a child for a

task until the child can do it on his own is termed as

l.

2
3.
4

Co-operative learning
Zone of proximal development
Collaborative learning

Scaffolding

ARG Faq F6s @l REAIAS adie deIIel Aade
QAIRIYY 6QIFIRA IR

1.

2.

3.

AEAIGN AKEl
AN FRIS QR
QAUNLAR SR
AIETFIMG R



31.

32.

33.
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34.

35.

36.
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2.

3.

4.
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37.

38.

39.

40.
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41.
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43.

44,
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45.

46.

47.

48.
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49.

50.

51.

Q6EITY JQQ CJEIG8 FEQIB ATER FOB FALIAE -
1.

2.
3.

4.

QIR AUGER
22 QIR
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dI QUIER

‘IR  IRGQ AR TERQ R6M -

1.
2.
3.
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QP 26T AR
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52.

53.

'QBRGT’ —4& AQIAQ ALY -
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3.
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57.

58.
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61.

62.

She became ‘flabby’ due to lack of physical activity.

‘Flabby’ in the above sentence means;

1. lacking vitality
sad or gloomy

depressed

Sl A

persuasive and convincing

He became the pioneer of India’s software industry.

The word, ‘pioneer’ in the above sentence means;
9 b

l. a person who is the first to develop a particular area of
knowledge.

2. a person who lost his life for knowledge.

3. a person who got a job in software industry.

4. a person who bought software from a company.



Choose the word that does not have a suffix.

1. conduct

2. official

3. proposal

4. identification

Choose the word with correct spelling.

1. Vorocious
2. Varocious
3. Voracious
4, Varacious

Words having the same spelling but different meaning are
called;

1. homophones
2. homonyms
3. hypernyms
4. hyponyms



66.

67.

68.

Light changes its nature when passed through a transparent
medium.

Choose the antonym of the word ‘transparent’.

1. positive
2. bright

3. opaque
4. unnatural

Choose the phrasal verb that means ‘ manage to understand.’

l. Bring down
2. Make out
3. Bring out
4. Broke down

"The Hindu" can be obtained in many big cities in India.

The purpose of using ‘can’ in this sentence is to express;

1. position

2. ability

3. permission
4. possibility



69.

70.

71.

Choose the correct sentence with respect to the use of articles.

1. Tables are made of wood.

2. The tables are the made of wood.
3. The tables are made of the wood.
4. Tables are made of the wood.

He deals ............... many business people.

Choose the correct preposition that fits the blank.

1 n
2. on
3. with
4. over

Napoleon, who won the French honour, died at St. Helena.

This sentence has;

1. a defining relative clause

2. a non defining relative clause
3. a noun clause

4. a conditional clause



72.

73.

74.

Choose the informal expression among the following.

[

Tell me where the market is.

2 Please show me the market.

3. Will you please help me in finding the market?
4

Can you please help me in finding the market ?

He comes every Friday.

Choose the correct question tag for this sentence.

1. isn’t he ?

2 does he ?

3. doesn’t he ?
4 is he ?

Choose the sentence that ends with a full stop

l. I know who you are
2. How good you are
3. Who are you

4. How are you



75.

76.

77.

“Shyam has eaten my chocolate,” says Arun.

Choose the reported speech of the sentence above.

1. Shyam says that Arun has eaten my chocolate.
2. Shyam told Arun that he has eaten my chocolate.
3. Arun told Shyam that he has eaten my chocolate.
4. Arun says that Shyam has eaten his chocolate.

Plenty of water ......... available here round the year.

Choose the correct verb form to fill in the blank.

1 18

2. are

3. were

4. have

The child ......... by a dog last week.

Choose the correct tense form that fits the blank.

1. has chased
1s chased

was chased

had chased

Sl A



78.

79.

80.

Choose the verb form from the following.

1. organise
2. tidy

3. SiX

4. corn

Choose the linker that can be used to indicate contrast.

l. Yet

2. Hence

3. All the same
4. Likewise

He was tired. He lay down on the sofa.

The two sentences can be combined as:

1. Neither he was tired nor he lay down on the sofa.
2. Being tired, he lay down on the sofa.

3. He lay down on the road so that he was tired.

4. Although he was tired, he lay down on the sofa.



81.

82.

83.

Choose the grammatically correct sentence from the
following.

l. Vikram prefers coffee for tea.
2. Vikram prefers coffee with tea.
3. Vikram prefers coffee to tea.
4. Vikram prefers coffee by tea.

Has a snake ever coiled itself round any part of your body

This sentence ends with;

1. a full stop
a question mark

a comma

Eal o

an exclamatory mark

Choose the word that should begin with a capital letter.

l. american
2 poetry
3. news
4

week



&4.

85.

86.

He has taught us grammar.

The passive voice of this sentence is;

l. Grammar has taught us by him.

2. Grammar was taught to us by him.

3. Grammar has been taught to us by him.
4. We have taught grammar by him.

No other river in the world is .............. the Nile.

Choose the expression that fits the blank.

1. the longest
2 longer than
3. long

4 so long as

You address the receiver of a personal letter as;

l. Hello Sir
2. Dear Mr.
3. My dear
4. Dear Sir



87.

88.

9.

Choose the list of words in the correct alphabetical order.

1. do, does, did, done
do, did, done, does
did, do, does, done
did, does, done, do

Cal o

Tourists from various parts of the state travel through
Kurnool.

Choose the synonym of the word ‘various’.

l. some
2. all

3. many
4. any

Read the following passage and choose the correct
answer to the question.

Shivaji once attacked the city of Surat, which was under the
Mughals then. The Englishmen who lived in Surat ran away
for safety. Though they escaped, their belongings were taken
away by the soldiers of Shivaji to Raigarh, the capital of
Shivaji’s kingdom.

The Englishmen ran away because.

1. They wanted to save their belongings.
2. They wanted to attack Raigarh.

3. They wanted to save their lives.

4. They wanted to meet Shivaji.



90.

Read the following passage and choose the correct
answer to the question.

Shivaji once attacked the city of Surat, which was under the
Mughals then. The Englishmen who lived in Surat ran away
for safety. Though they escaped, their belongings were taken
away by the soldiers of Shivaji to Raigarh, the capital of
Shivaji’s kingdom.

Choose the true statement from the following.

l. Shivaji belonged to Surat.

2. Shivaji attacked Raigarh.

3. The Englishmen attacked Shivaji.

4. Raigarh was the capital of Shivaji’s kingdom.



91.  The value of 10g25 s
125

log 25
o Q ¢Imi

Wi Njw wWowm

92. Sum of two rational numbers is(—8) . If one of the rational

numbers is (TYJ then the other is

QRG dQ6AL QA 699 (-8) | 6QYQ EQlTT QAGH|

(_77) CR6M 2QYG
. 98
9
2. 6l
9
3, o8
9



93.

94.

95.

If A, B are disjoint sets, n(A) =5, n(B) = 3 then n(AUB) is
A, B Q96 QY Q709 n(A) =S5, n(B) =3 626m
n(AUB) Q ¢Jm

1.

S W W

2
3.
4

Number of two digit numbers divisible by 8 is

% glal Agd QAISY 62Q2Ql 9Ll QY AHIIGLRQ

QG

l. 9
2. 10
3. 11
4. 12

If the two zeroes of 7x*— 15x — K are reciprocal to each other,

then the value of ‘K’ is

7% - 15x - K 93980 996 §aifmi 909 94219
QEMICN 626M ‘K’ Q MY

1 7
2 —7

15
3.



96.

97.

98.

Cube root of 13824 is
13824 Q Wa¢]@

1 44
2 34
3. 28
4 24

First and last terms of an Arithmetic Progression are
10 and 50. Sum of the terms of this Arithmetic Progression is
480 then the number of terms in this Arithmetic Progression
IS

AAIBQ OISR YT 8 688 JRYGR KLUIFELI 10 @ 504Q°
JoIGQ JRgGea 671G 480 626m, JIGQ Q@ oGl

1. 8

2. 10
3. 16
4. 20

V5-2 then the value of x+E is

\/§+2 X

X —‘/g_zeaem x+3 6R6M

_\/§+2 X

18
14

85
2/5

If x =

> L e



99.

100.

101.

A 5 mts. 60 cm. high vertical pole casts a shadow of 3 mts.
20 cm. long and at the same time the length of the shadow cast

by another pole of 10 mts. 50 cm. high is (in mts.)

5 4. 6069.4. 90 G418 Q0 FAUQ 6544 3 §. 20 624
IQ° 6Q8 APNER 109, 506Q.6. Q@0 FI] AR Y@ @10
LIAQ 6594(Fe6Q)

l. 18.375
2 8.64
3. 8.1

4 6

A shop keeper buys 80 articles for Rs.2400 and sells them for
a profit of 16% then the selling price of one article is (in Rs.)

@64 6QIRIQT 80 & QLY . 2400 6Q @&, 16% NKVEQ

QAPREM, Y6RUR 9gR F9L (MY (SFIERQ)
1. 30.60
2. 34.80
3 35.40
4 46.20

Five coins are tossed at a time and then the number of
possible outcomes is,

dIEG Q1 IRI2EQ RREJUE @QAEM, ARIY 6¢1IS FRITR
QG|

1. 64
2. 32
3. 16
4. 8



102.

103.

If P(A) denotes the probability of an event A, then

‘A’ QIR OGS 4RAIYGIY  P(A) 9IQ RIRem

l.

2
3.
4

P(A)<0
P(A)>1
0<PA)<LI
-1 <PA)<L 1

The time in seconds taken by 150 athletes to run a 110 mits.

running race are tabulated below :

150 Q@4 2ld6n] 110 F9Q 6Qle JGeaIGeea 69l

AT 66QA6Q G AAE6Q GRS |

Class 13.8- 14- 14.2- 14.4- 14.6- 14.8-
69411 14 14.2 14.4 14.6 14.8 15
Frequency
6@98@1@8 2 4 5 71 48 20

The number of athletes who completed the race in less than

14.6 seconds is

14.6 Ol @¢| ATNER 6413 4 @GR! 2lERGT Al

l.

2
3.
4

11
71
82
130




104. The range of the data 14, 6, 12, 17, 21, 10, 4, 3 is
14,6, 12, 17,21, 10, 4, 3 QaiQ G3G(YQ)

1. 11
2 17
3. 18
4 21

105. IfSin0= ;—8 then the value of sec O + tan O 1s

Sin 0 = 2—8 6L6Mm sec O +tan O Q?]jﬁ)‘i

21
49
49
21
41
29
29
41

106. Two men are on either side of a temple of 30 mts. high observe its

4.

top at the angles of elevation as 30° and 60° respectively, then

the distance between the two men is (in mts.)

308160 2P0l A48 Rea 918 WY TRAQ ARG AI96Q
2Rl QRS B 30° B 60° 6RIEIR RRGER APUIR RQREM,
622 QRS QB 11 GG (F5R6Q)

1. 2043
2. 40
3. 4043

4. 60+/3



107.

108.

109.

The points D, E and F are the mid points of the sides of
AABC. If the perimeter of AABC is 16cm, then the perimeter

of ADEF is (in cms)
AABC QI99Gaa (1:IeQ QAIgeA D,EGF | 9@

AABC Q 9QQ1¢1 16 69.91. 626@ ADEF Q 9QQ1¢
(6Q.61.6Q)

1. 32
2 8
3. 4
4 2

ABCD is a cyclic quadrilateral. If ZA - ZC = 20° then
ZC is

ABCD 9@ 9916 999, /A - /C =20°626m /C=

1. 120°
2. 80°
3. 70
4. 40°

The angle which makes a linear pair with an angle of 61° is
61° 6QI8l AL QQ@G@%!@ 691G Q@ QAR 6@IS]

1. 29°
2 61°

3. 119°
4 122°



110. Two sides of a triangle are of lengths 5 cm and 1.5c¢cm, then
the length of the third side of the triangle cannot be
6Ol GREQ 9RC QIgA Id JalIger 5 6.4, G
15 6Q.81. 626R, G149 I AR ACAIGY AT

l. 34 cm
2 3.6 cm
3. 3.8 cm
4 4.1 cm

111. The points A(7, 3), B(6, 1), C(8, 2) and D(9, 4) are the

vertices of a

l. Trapezium
2. Rhombus
3. Rectangle
4. Square

Q9 A(7,3), B(6, 1), C(8,2) 8 D9, 4) o2 I2IQ 419

1. QIaEes
2. QqQ

3. 290699
4. Q9i6lQ

112. The point (4, —3) is in the quadrant
GQ (4, -3) QA

I
II
III
1A%

el A



113.

114.

The difference of circumference and radius of a circle is

111 mts. then the diameter of a circle is in mts.
@ 980 At 9 UIAIFA Y6 111 . 626R QAR I
(F0Q6Q)

1. 105
2. 21
3. 42
4. 84

The volume of the largest right circular cone that can be cut

out from a cube of edge 4.2 cm. is (cm’)
42 68, Qg QY AR @VILAAIQRR QLA
FAIFTA LR (AR 62.61.6Q)

1. 9.7

2 19.4
3. 58.2
4 77.6



115.

116.

The author of the book “Data’ is

l. Pythagoras
Euclid

2.
3. Bhaskaracharya
4.

Eudoxus
“@IF1" 92 RIS
1. daediqg
2. 9§Q
3. QUUSITY
4. 960199

The highest objective in cognitive domain is

1. Evaluation
Characterisation

2.
3. Synthesis
4,

Naturalisation
RIFIAD JAAAQ ARG AQY
L RYee
2. QQeglae
3. Q696

4. Q991994



117.

118.

“The project is a bit of real life that has been imparted into
school” — defined by

1.

2
3.
4

Parker
Stevenson
Kilpatrick
Ballard

‘JeF 628 (U007 9190 1@ JQI9 , JIFl FAUIRAER
FOAS RAQ! " — T ARIYLQIL!

l.

AN
SIgmletale
ANAIOR
ARG

This provides the lowest amount of learning as per Edgar

Dale’s Cone of Experience

l.

2
3.
4

Field Trips
Visual Symbols
Verbal Symbols

Direct Purposeful Experience

“NQIIQEENT AQRE I QAR Yl QIRGH d]E

61BN
1. 68g adyee

2. Q84 A6RS

3. SRR A6we

4. gOUY QEREYRR AGHD



119.

120.

Following aspect is a constraint for enhancing Mathematical
Talent

1. Good memory

2. Mathematical Aptitude

3. Unpleasant Home Environment
4. Teacher’s encouragement

ISR 6AMIQ RIS TR AFFIAR 2°SIT

. Qea9ge

2. <lSiee 9@

3. gO9R A6QIR QIFIead
4. 99w 691297

The Academic Standard to be tested through the following
test item

“The monthly Salary of Sudhakar is Rs.12,500/-. He spent
Rs.9300/- for his household expenditure. Find the remaining

amount”

1. Connection

2. Communication

3. Representation — Visualisation
4. Reasoning — Proof

“PRIRR GlF AIde 99l 6.12,500- Q AP ARER
Q. Rs.9300/- S0@R | QIFAIHNER Q@A SRIERES”
- NQIFIQI 91N *QAULIRQEQ! SV

. Q6dld

2. QU204

3. QQKI9Q- QaNIAR

4. QREQ4IRQl — gAISIRaa!



121.

122.

Area of irregular shaped objects like leaf can be measured

with
1.

2
3.
4

Scale

Tape

Graph Paper
Measuring Cylinder

J9ER SUTIRIR 9YIERR 6AFTR Fda FAI6R 1

ALAS
1. 62

2. 699

3. QI 6999
4. QIR

The change that takes place in a dry cell of torch

1.

2
3.
4

Chemical energy is converted into electrical energy
Electrical energy is converted into chemical energy
Chemical energy is converted into mechanical energy

Mechanical energy is converted into chemical energy

CONRTR A 6RT6Q F0G AAIRR

1

2
3.
4

QUARRR 98 FQIQ IT6Q AR 99
QIR 6@ AUALF? §B6Q AARLR 29
QUARRR 9@ TR 9260 VARRR 99
AIFe 98 AAARR 486Q U0RR 99



123.

124.

Pitch of the sound depends on
1. Frequency

2 Intensity

3. Amplitude

4 Density

49Q 210 (3Q) Y2 AU F9Q K6Q

1. Q@
2. Q190
3. e
4. Qg

The law which states that “when mass is constant,
acceleration of body increases with increase in resultant
force ”

1. Newton’s first law of motion

2 Newton’s second law of motion
3. Newton’s third law of motion

4 Law of conservation of energy

© Q2a Qge da gQl 696R J6Yld RAUAIRSI
6AIGIEAIT Q@F P 626M QAE Y@ G4 ' — 2l §F
Qe AL RGOS |

1L  GoRw 9o 98 G

2. QROQw G019 96 GO

3. 0RO Qlg 9F GAr

4. 9B QI GAgl



125.

126.

Unit of work in M.K.S. system is

l.

2
3.
4

Erg
Joule

Newton

Dyne

M.K.S. 98669 2194Q 999

1.

2161
g
AR
QI

The heat energy required to change 2 gms. of water to water
vapour at constant temperature is (in calories)

da QIaaIgiea 2 gifl RIS Ing FR1LQId @6d
JRLRR QAR TISEIR1A ARIT (RUICRIAT 6Q)

l.

2
3.
4

80
540
1080
160



127.

128.

The acid present in cold drinks is
1. Acetic acid

2 Carbonic acid

3. Sulphuric acid
4

Citric acid
S10R AIRAER 2 &g
1L NAGR &g,
2. QIERIAR AT,
3. QIR &g
4. ARER 2¢e,

The metals that exist in their free state are

l. Copper and Iron

2. Silver and Aluminium
3. Gold and Iron
4. Silver and Gold

78 CQHICR MY 6LQ I

1. QdlGemla

2. Qdl B AR
3.  4alGemle

4. QUBYR



129.

130.

When surface area of a liquid increases, the rate of
evaporation

l. Increases

2 Decreases

3. Doesn’t change
4

Becomes half

GRRIQIda JICRa 6UeTR 9F AGR AR
)

1. QfdIg

2. Q4N

3. J09eR g9QIE@
4. URR 99

Identify the chemical change among the following

l. Evaporation of spirit
2 Rusting of Iron

3. Sublimation of iodine
4 Melting of wax

Q67199 AALGS ARG 526 aQ
1.  Q0Q Qe Q6%

2. QA QRE QI

3. 2RI} 9UI9R A0S

4. Q120 GRS



131. The best fire extinguisher is
l. Water
2 Green leaves
3. Carbondioxide
4 Sand

Qg PRI A6RIRL 28 AR

L. @@
2. QQGCI g
3. AFIQRIE),
4. QIR

132. The fibre used in making swim suits and parachutes is

l. Cotton
2 Wool

3. Rayon
4 Nylon

ABRE QY , JIQURIF IYGER QUL U

1. dq
2. Q99
3. 6099

1. Q]



133.

134.

Fishes lay eggs in this part of the pond
l. Pond surface

2 Above the pond surface

3. Pond margin

4 Bottom of the pond

61 92 IRER 7R ‘UL 6QR2AIE

1. ISR JIAOWER
2. CdIFIQIQ JIACNQ @ DIPER

3. 6QIgQla A6
4. 6AIEQIQ 22897

Total number of calf bones and bones of lower arm in a
human are

AIRQQ &g FId IQ° Y JRAUI6Q &l 67l 21g
QoI

l.

o N NN A

2
3.
4



135.

136.

‘Haustoria’ are

1. Special roots developed by parasitic plants
2. Modified leaves of insectivorous plants

3. A kind of sea weeds

4. Umbrella shaped plants

' 26/IQ2 (6219R) IR
. JO9I91 AR96a 903 @16 IRl ATYQ AR

2. QIC6RINT AL6R QISR A5l A
3. YR gelQ AGR 949

4. 801APEA WL

Number of parts that the Stamen and the Pistil in Datura
flower has

1. Stamen - 3, Pistil - 4
2 Stamen - 4, Pistil - 2
3. Stamen - 2, Pistil - 3
4 Stamen - 5, Pistil - 1

Q9Q JIU6Q 629909 I8° FRICFER 1 QG A°HH|
1. 629999 -3, IR - 4
2. 699009 -4, TRRNGY -2
3. 694009 -2, TR -3
4. 6R999Q -5 TXNNY -1



137. Dr. Jonas Salk and Dr. Albert Sabin worked on this disease

138.

1. Tuberculosis
2 Polio

3. Plague

4 Smallpox

Q. 9919 AR 9Q° Gl ARG AR 9E 6T A6
Q6T @M

1. Qs
2. 6dImQ
3. 699
4. Q42

The excess of Carbon monoxide in the air leads

l. to formation of Carboxyhemoglobin in humans
2 to blacken lead paintings

3. to reduce transpiration in plants

4 to acid rain

QYALREA RIEAIQ 6AIERIRANRA TG 2R 626R
@ gQIe 693K

L AIRQERIREe Ql6QIRd S6c16qI7 989

2. QA 69286 JoR FRISLER QSIS 99

3. QEQ6Q Q69eq Q1A

4. ARSI 99



139. The kingdom that was not proposed in Copeland’s
classification of life forms is

l. Monera
2 Plante

3. Fungi

4 Animalia

RIeE  6591QAT6Q  ERlIgNEE  FIQ  YLeAIGe
62102 FIT

1. 67l6Ral
2. Q6

3. T8I

4. Gaimel

140. Choose the correct pair

1. Skeletal muscle - Non striated muscles
2 Smooth muscles - Non striated muscles
3. Cardiac muscles - Voluntary muscles

4 Voluntary muscles - Non striated muscles

A0R 691559 526 @Q |

1. QIR 641 - QS 6441
2. €198 694l - UCAYS 644
3. 9Q6d4 - 69R10100 604!

4. 69RIFIRG 64141 - 26 649l



141.

142.

‘Ducklings will follow the first moving object they meet after

hatching’. This type of behaviour is called

l.

2
3.
4

Instinct
Imprinting
Conditioning

Imitation

' Q0@ gaIFIER AVQ QLA JeI6Fl 699 9RR Igeq
6Q%I3 GIYl I86Q YIRRIG ' | & RYEQ A QLI

1. Q960 g9

2. Q7R

3. AR gl

4. 2@

Heart receives blood from

l. Superior and inferior vena cava and pulmonary vein
2. Aorta and pulmonary vein

3. Pulmonary vein and pulmonary artery
4. Pulmonary artery and aorta

2R08 P0IQ OB A°YL 6Q

1L 99649 agdial, gagaIa Sl
2. Q12141 gAFAIR da

3. g9 dal, gAGAIN U1
4. FLGIL AT, 191 AR



143. The tissue of chorion and the adjacent part of the

uterine tissue make up
1. Umbilical cord
2 Placenta
3. Allantois
4

Amnion

62100Q 59 , ¥2Ig NG deide §g A4 el 98
9 |

1. Qg

2. Q89N

3. RS

4. Q@

\

144. The hormone that suppress hunger when you feel your
stomach is full
l. Ghrelin

2 Leptin
3. Adrenalin
4

Somatotrophin

Q7 AIRgR1 94 62IRdeR , PICIPIR RAGA G762

00 @6dlI]

1L g

2. 6RAGQ

3. 6Ll

4. 6QI6FIEQISTR



145.

Internationalization of and commitment to certain ideals and
values takes place in the child in the following objective of
Affective domain is

l.

2
3.
4

Receiving
Valuing
Responding

Organization

Jaldia 06 FIGELQ! A4 B RICARIYERR A8YS
QG 624 2194 B RIEIN AL QIFCLIR AT AR
260G &7 MRILL A°YD

1.

2.

3.

a8 @4

InY FSIQE
JoRa gls QS|
AGFOR



146.

147.

One of the following belongs to the 10 core elements of
curriculum construction

1. Social discrimination

2 Nationalism

3. Removal of superstitions
4 Equality of sex

Q678 CRIQ IOIRT A°ARRIA 106 B8 QAN
641G

L. AUPR 6QRIR

2. QOIS QA

3. URQYIA QRS

4. Qe QARG

The best method to teach ‘Periodic table of elements’ is
1. Laboratory Method

2 Heuristic Method

3. Lecture Method

4 Project Method

* 6IRRgERa AUIRAE AU ARET” Q FVLIE AR
2P AQIRC ARG

1L IR 98C
2. UPIIQ ARG

3. Q@0 dee

4. Y98 986



148.

149.

The common size of letters on the chart used by the teachers
in the classroom should be (in cms)

l. lto3

2 2to0 4

3. 3to4

4 5to 10

64919260 SR MG KRS FITER AYE AV
ARIIQE AQCE (6QLFTAER) ILI QTR QR

1 1 03

2 2 O 4

3. 3 09 4

4 5 OIg 10

Quotations are not required to purchase the materials that are

to be entered in the following register
1. Consumable stock register

2 Temporary stock register

3. Non breakable stock register
4

Breakable stock register

Q¢ 6OERAER , AP FQARI QYR FEAAIR
6Q1692AQ (Quotations ) ISR T6S AIZ

1. QI9E0 @0 AR 606aQ

2. 2 GEY AR 6QEAR

3.  QO9IR 36 8] 60ERQ

4. ARQ9IR GEY AR QAR



150. Preparation of question paper with these type of questions is
easy

1. Essay type of questions
2 Classification questions
3. Short answer questions
4

Multiple choice questions

 gRIQ 9996@ 92 9998 G2 @09l 26 Aes 2169
1L Qld QeARe J4IaRT

2. 6541RQE IR

3. QY QR 9919w

4. Q9 Ge9 g9IonT



